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Topic:- General Science

1) Anthrax is a fatal disease caused by a ./
W TH IaP SRS, S FPRUE B
1. Fungus / hddh

2. Worm / qsﬁl

3. Virus / ﬁ'EITq

4. Bacterium / \_IﬁaTUl

Correct Answer :-

» Bacterium / \_rﬂaTr{[

2) What happens in an electric cell? /

T fagad S & @ gt 2

1. Chemical energy is converted into electrical energy / REIRIEED G)’Trﬁ, ﬁg’qﬁ Sl & gfkafdd gt 21
2. Heat energy is converted into electrical energy / HTHI Wf, ﬁ’g{qﬂ Soif # ufkafcdd giat %I

3. Electrical energy is converted into chemical energy / ﬁgq—d G)'_\Sl‘f, IrafAe St § gikafdd Eﬁ?ﬁ % |
4. Electrical energy is converted into light energy / ﬁgtra Wf, YT Sl # ufafed gl 81

Correct Answer :-

» Chemical energy is converted into electrical energy / RS S, ﬁ@’qﬁ ol o gfkafda gt g1

3) Which of the following is to be added to a crop field that is too basic? /
Frafafaa 3 A 53 ve waa & o STaT1 ST A1eT 5l 984 &R 1 Afy®) 872
1. Quick lime / fSHT g7 AT

2. NPK / TUTdh

3. Slaked lime / AT AT
4. Organic matter / FradD T

Correct Answer :-

» Organic matter / PraED T

4) Which of the following two metals can be cut with a knife?/
fFrafafEa 3 @ 19 3 & argail #) a1 J BreT o Hdar 82

1. Na & Mg
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2.Na& K
3.Ca&K

4. Ca & Mg

Correct Answer :-
¢« Na&K

5) Where does the lens in the human eye form the image of an object? /
a7 § 99, U a3g P Bfd Bl a1a1 82

1. Cornea / I

2. Choroid / Ydd® Ul

3. Sclera / fqUcd

4. Retina / XfeT

Correct Answer :-

« Retina /feT

6) As the moon completes one revolution around the earth, it completes: /

O € TEAT gt ¥ SRIURT U9 UfhHOI QRT T 8, T8 Y &) quf ear @:
1. 15 rotations about its own axis / 30 31& TR 15 ‘Q;Uf'_-[

2. 29 rotations about its own axis / 30 31&f TR 29 ‘E‘[UT:[

3. 2 rotations about its own axis / 30 3{&f TR &l ‘{Uﬁ

4. 1 rotation about its own axis / 301 3{& TR U 'EI,;UT:T

Correct Answer :-
« 1 rotation about its own axis / 30 S WM UDh qu'_-T

7) Cuscuta is a long wiry plant without leaves, hence it is o

Fepel R URE ST A AR ST AT S, R aE &
1. parasitic / Rohat

2. saprophytic / q?ﬁu\—rﬂaﬁ

3. insectivorous / BICTERI

4. symbiotic / TgSIA!

Correct Answer :-

e parasitic / URoha

8) Lime water turns milky on passing carbon dioxide gas into it due to the formation of .

A BT U, HTe STgSHTRITSS TR A oA W g gt smar 31 g ¥F fAmfor & SR AT 3|
1. sodium carbonate / TSTH BT

2. sodium hydrogen carbonate / ifgay _Eﬂ—i'gf\—rﬂ CACIE
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3. calcium carbonate / BTeRIIH HIEHC
4. calcium oxalate / PTeRTIH A

Correct Answer :-

« calcium carbonate / B eRITH BT

9) The earth’s plate responsible for causing earthquakes is the: /

Tt B 9 We W YHU IUT I & e SwRert 7, e 8
1. crust of the earth / Gt &1 U

2. mantle of the earth / J2d &1 Hed

3. outer corner of the earth / 3T &7 &gl T

4. inner core of the earth / G2&l B SHTANRD DR

Correct Answer :-

o crust of the earth / qroﬁ oI gded

10) The main cause of wind movement is: /

g $t I BT GBI FRUT = 2

1. Low temperature / g aHE

2. Uneven cooling / 3 e

3. Uneven heating on the earth / q?iﬁ U 3YHE dU—

4. High pressure / 3B a1

Correct Answer :-
» Uneven heating on the earth / E‘[ﬁﬁ U SHYHT dra+

11) The amplitude of vibration of sound determines its ./

AN FFuTHT MM, sOd w RuiRa sar g
1. frequency / Gﬂ?{ﬁf

2. speed / dTeT

3. time period / THT AT

4. loudness / 9dcTdl

Correct Answer :-

¢ loudness / Ul

12) The force responsible for the transportation of water and minerals in tall trees is ./
e Uel # url 3R @il & uRas & fore Swverdt a4 g gl
1. Gravitational force / Wﬁb—ﬁﬁﬂaﬁ

2. Suction force / JYUI §¢T

3. Adhesive force / 3Gl
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4. Magnetic force / WW

Correct Answer :-

* Suction force / VU &

13) The inner surface of a steel spoon acts as a i

TS W S T B 3iaRe "ag P I B Bl B
1. convex mirror / 3T GUUT

2. convex lens / ITd

3. concave lens / 3AAd A9

4. concave mirror / 3{ddd Efd"UT

Correct Answer :-

e concave mirror / 3{ddd E"CfUT

14) The southwest monsoon season in our country is during the months of: /
AN o1 & SR0.ufdw wreRge &1 A e 7=l b SR g @:

1. June to September / [T I RidsR

2. November to February / TdaR Y HRat

3. October to December / 3{agalX 9 fegmR

4. May to June /Ilé @Gﬂ

Correct Answer :-
« June to September / I ¥ RIdaR

15) The clinical thermometer is used to measure: /

e yutHies o1 yai 38 91ua & forg far wimar :
1. The human body temperature / HI1d IRR ™

2. The room temperature / P& AT

3. The temperature of the clinic / CNIREACAIE]

4. The temperature of the laboratory / URTRITE &1 a1

Correct Answer :-

o The human body temperature / HIHd ¥ IR drg

16) The natural cover that is made by the branches of tall trees is known as: /

@ US) F a1 §RT AT T UIp e SMavor i f=1 & U & 1 o1t 8:
1. Habitat / 3TaTH

2. Canopy / BT

3. Forest / STcT

4., Crown / h134
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Correct Answer :-

e Canopy / S

17) The metric system was introduced in: /
Hifew yomrelt 39 =1 & yarfaa #t 18:

1. France / W1

2. India / HRd

3. America / SAR®T

4. England / 3"%3

Correct Answer :-

o France /i

18) The hottest zone of a flame is: /
1. Inner zone / 3ATAR® &

2. Intermediate zone / HEATT &

3. Middle zone / Ted &3

4. Outer zone / STEI &

Correct Answer :-
e Outer zone / §Tgl RE]

19) The release of sex hormones is under the control of hormone secreted by the .
Ao gTHIA BT go g, R |faa gTAT & o & far 31

1. Thyroid / YRRIZS

2. Pituitary gland / tﬂ'q:li[ Tty

3. Testis / qUUT
4. Ovary / 3SR

Correct Answer :-

« Pituitary gland / tﬁ?{q Tty

20) The petroleum product used as fuel for lamps and jet aircrafts is: /

A7 3R T TRPITE & T U9 & U | ugad g aren Uiy Sarg A
1. CNG / HIGTSit

2. Kerosene / TR

3. Diesel / SToldl

4. Coal gas / HI

Correct Answer :-
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« Kerosene / fdRIRM

21) The process of movement of water into deeper layers of soil is called .

firgt o1 et ural A urit &5 ifar 1 wftean Feard gl
1. Filtration / Frede

2. Weathering / 3U&Y

3. Percolation / 3{d:¥AdUT

4. Erosion / 3{URg

Correct Answer :-
« Percolation / 3d:TAdU

22) In a cell, genes are located on the .
TF HIRAPTH, T R fREA gl

1. Mitochondria / Wl%aﬁ%qf

2. Ribosomes / IZAITRT

3. Golgi apparatus / et SUBRT

4. Chromosomes / ShTHIEIT

Correct Answer :-

« Chromosomes / SPIHIERT

23) Seeds which are dispersed by animals possess ./
99, Sife ol grioRafaekds, g Edel
1. hairy outgrowths / RUMARS 7Y

2. Wings / g

3. large ridges /aém

4. spines and hooks / Bl AR gh

Correct Answer :-

« spines and hooks / Pie AR gh

24) Rearing of silk worms for obtaining silk is known as: /

I YT FRA & Fo1g I[@ie] 1 urerq-uiyor fr Sgarmd o:
1. Sericulture / TRIH R

2. Silviculture / RediebeeRk

3. Agriculture / TidheR

4. Apiculture / QTﬁW

Correct Answer :-

« Sericulture / THTR
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25) When the earth quake occurs, the safest place to stay is: /

OIS YU ST ¢ A1 38 P g Had YRIad VI 3:
1. under a big tree/W@%’ﬁE’%:ﬂ%

2. inside the house / TR & 3G

3. inside the vehicle / T8 & 3faR

4. in an open ground / Eg,ﬁ aa:f 2|

Correct Answer :-

« in an open ground / @afﬁfﬂﬁ

Topic:- General Hindi

1) {5 iR ¥ U, 5, ST 3Nfe araw T &1 TART gHaT 82

2) ger o1 & A o1 a1 T faem s @2
1. fqug

2. ueh

3. UTfars

4. dug

Correct Answer :-

3) g &1 A & A S 91 98 fRaw I 22
1. o=

2. 3R
3. guel
4. 3T

Correct Answer :-

4) Framr FRF T ST AT IIEL?
1. gg 99
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2. TSY AN
3. Ty ey
4, HHYRY T

Correct Answer :-

. DHYRY JHE

5) PuE T | A F B A AR 32
1. g 99

2. GBS JAN

3. T aam

4. HHYRY GHAY

Correct Answer :-

. HHYRY TAN

6) ‘W U 4 T Vg P A A S AT 32
1. YHTT

2. =Y

3. RS

4. Wicfhisr

Correct Answer :-
. TYE
7) “ygifta &1 a9 wiie g Ffe A d smars:?
1. yg ¥ fiq
2. WO H1 id
3. ug ¥ fid
4. YO & fo +id

Correct Answer :-

. g ia

8) < IuwT T I P A a P AT R?
1. 3THRY

2. 31t

3. AT

4. 3T

Correct Answer :-

. SftEE
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9) I BT e ? & # a1 wE freiw wreq &2
1. RIa

2. RTH

3. gaH

4. qaA

Correct Answer :-

10) <G IWF A T VG FAA A P ATR?
1. WY
2. 2Ny
3. @Y
4. gy

Correct Answer :-
. gay
11) Preq # od Vet FIAY &b SR THPR SAA ST S, SAPEA & -
1. 3UfAPR
PANEANEIN
3. 50 A HIS T

4. 3ADBR

Correct Answer :-

12) TR FIYEFU A A DT ATR?
1, TRy
2. TR
3. TRt
4, TR

Correct Answer :-

13) RETAT FT IS U AT A I BT ATR?
1. gHIaAl
2. G
3. gENal
4. GERAT
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Correct Answer :-

14) AR FIYE U FAEA AP ATR?
1. IR
2. IR
3. IfToh
4. IR

Correct Answer :-

15) TR & forg adt <ify fasdeg &t g
1. AU

2. A+

3. HA+3H

4. A+

Correct Answer :-

. TR

16) ‘WHIGRP & forg Tdh Afy fasdg &t g
1. TRY+3er

2. IRA+3NER

3. TRAH-3Ner

4. TRH+3MeR

Correct Answer :-

. TRY+3MeRf

17) ‘R & fore Ot vafaarh o vl Y vfed &1 g
1. e R ga

2. T =fid Aifer

3. Xitey < ey

4, QT =Y Aifer

Correct Answer :-

18) T & forg O} vafgarh are wreal 1 ufda 1 g1
1. TR, 3MTe Tl
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2. TEIL), 3Teht gl
3. TR, 3MTeht el
4, TEORI, 3 ot

Correct Answer :-

19) <gaftf ¥ forg we Wfy a=dg A |
1. SaL B

2. qa+3B

3. g+

4. a+3BNy

Correct Answer :-

. a+B

20) R TFATA T HP & R v T P A A P A2
1. gord

2. o

3. 3R

4, 3o

Correct Answer :-

21) ¢ BT VGT TR | 3T Gerak &1 3 Frg Rl A A s ar e
1. SRTSR BT T8 BT

2. SRT&R BT YGR BT

3. SRIER S ASHI

4, SRR BT 4TS 7 T

Correct Answer :-

. SRR FTYGR HAT

22) g &1 4ie g Gerak &1 o Py e A A s ar e
1. 71 fe@rs ve

2. IR fe@s &

3.3 M

4, 9gd f&1 a1e femm

Correct Answer :-

. §gd fai a1 fawm

https://www.freshersnow.com/previous-year-question-papers/



23) g A e ToT GeTak &1 3 P el F A s ar e
1. IR BT

2. TT-YP BR AT

3. §e e

4, 3¢ MY & T

Correct Answer :-

. TTYTBR AT

24) HFUWAFTA AW F R wo A Fm A I s AT
1. SMTERT

2. H&HYg

3. &w

4, S{&HIT

Correct Answer :-
o W
25) I B FY R TH®, FHT & T B W |
T 9 G Yfr S, FR AP W ua erfa @ A A I E R
1. YOS 9
2. ufad 39
3. HIUIRY
4. YR Y

Correct Answer :-

Topic:- General English

1) Select the suitable conjunction to complete the sentence:

They were sad they were not granted permission to attend the concert.

1. and

2. 50

3.if

4. because
Correct Answer :-

e because

2) Choose the most suitable determiner for the given sentence.
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Haveyougot___ sugar?
1. many

2. any

3. most

4, few

Correct Answer :-

3) Choose the appropriate modal to complete the sentence.
I am not free today, butI _____ certainly see you tomorrow.
1. could

2. will be able

3. may

4. can

Correct Answer :-

4) Choose the appropriate articles to complete the given sentence.
Neil Armstrong was ____first man to walkon ____ moon.

1. the, the

2. the, a

3. the, an

4. a,a

Correct Answer :-

5) Choose the appropriate articles to complete the given sentences.

The doctor says that mine is ____ hopeless case. He says that I should live in ____ open air.
1. a, the

2. the, a

3. the, an

4, a, an

Correct Answer :-

e a,the

6) Choose the appropriate prepositional phrasefor the given sentence:
The car driven by Ravi went and hit the lamppost.

1. with control
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2. on control
3. out of control

4. over control

Correct Answer :-

« out of control

7) Choose the appropriate prepositionfor the given sentence:
Mysoreis _____ Karnataka.

1. by

2. at

3.in

4. on

Correct Answer :-

8) Choose the appropriate noun to complete the sentence.
We use a little_____ in our cooking.

1. oily

2. oil

3. oils

4. oiling

Correct Answer :-

e oil

9) Choose the appropriate articlesfor the given sentence:

The helicopter landed on _____roof of ____ building alarming _____ residents.
l.an, a, a

2.a, a, the

3. the, a, the

4. a the, the

Correct Answer :-

« the, a, the

10) Choose the appropriate form of the tense for the given sentence.
I never seen him this happy before.

1. am

2. have

3. had been
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4. has

Correct Answer :-

e have

11) Choose the appropriate form of the adjective to complete the given sentence.
The ____ police station is five miles away.

1. nearer

2. nearest

3. nearing

4. near

Correct Answer :-

e nearest

12) Choose the appropriate prepositionfor the given sentence:
The rivalry the two groups increased after the elections.
1.in

2. between

3. among

4, at

Correct Answer :-
e between

13) Choose the appropriate articlesfor the given sentence:

I found ___ basket full of mangoes in the kitchen, I took only ___ripe ones.
1.3,a

2. an, an

3. a, the

4, an, the

Correct Answer :-

e a,the

14) Choose the option that best transforms the given sentence using a guestion tag
He hasn't returned from his trip,

1. has he?

2.isn’t he?

3. have he?

4. hasn’t he?

Correct Answer :-
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e has he?

15) Choose the option with the appropriate punctuation inserted in the given sentence.
He asked me whether I had written the letter

1. He asked me whether I had written the letter?

2. He asked me whether I had written the letter.

3. He asked me, whether I had written the letter?

4. He asked me, whether I had, written the letter.

Correct Answer :-

» He asked me whether I had written the letter.

16) Choose the option with the appropriate punctuation inserted in the given sentence.
Though the manager explained what to do we didn’t know where to go

1. Though the manager explained, what to do we didn’t know, where to go.

2. Though the manager explained what to do we didn’t know where to go.

3. Though the manager explained what to do, we didn’t know where to go.

4. Though, the manager, explained what to do we didn’t know where to go

Correct Answer :-

» Though the manager explained what to do, we didn’t know where to go.

17) Choose the correct form of verbs for the given sentence:

The dogs all night and us awake.

1. howls, keeping
2. howled, kept
3. howled, keeping

4. howling, kept

Correct Answer :-
» howled, kept

18) Choose the correct form of verb that is in agreement with the subject:

The course a holistic approach to learning.
1. are offering

2. offers

3. offer

4. have offered

Correct Answer :-

o offers
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19) Choose the correct form of tensefrom the given options:
The Chief Minister the new Metro station tomorrow.
1. will inaugurate

2. is inaugurate

3. inaugurated

4. has inaugurated

Correct Answer :-
o will inaugurate

20) Spot the error in the given sentence:

All children is playing on the beach happily.
1. happily

2. is playing

3. on the beach

4. All children

Correct Answer :-

« is playing

21) Which of the following is the suitable prefix for ‘connect’?
1. de

2. pre

3. mis

4. dis

Correct Answer :-

o dis

22) Fill in the blank with the progressive tense(continuous tense) of the verb from the given options:
Virat very well in this inning.

1. will be batting

2. batting

3. was batting

4, is batting

Correct Answer :-

e is batting

23) Fill in the blank with simple present tenseof the verb from the given options:

Hari tea in the evening.

1. drink
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2. was drinking
3. Is drinking

4. drinks

Correct Answer :-

e drinks

24) Fill in the blank with the appropriate prefixfrom the given options:
The Panama Canal is a ___made waterway.

1. under-

2. self-

3. man-

4, re-

Correct Answer :-

25) Fill in the blank with a suitable collectivenoun from the given options:

The police arrested the of thieves who were active in our area.

1. group
2. gang
3. mob

4. crowd

Correct Answer :-

Topic:- General Mathematics

1) Rahul spendsg of his mcome on household expenses a.ndl—iﬂ of his mcome on personal expenses. If his

monthly mcome is Bs. 48000, then his monthlv savings is: /
Tge B WA R HIAT I F - 0 cAfFId @ W A T H @ il bl AR
3TH ATTSF 31 43000 T4 &, 1 391 AfGs a9d &

1. Rs. 15600 / 15600 ¥UT

2. Rs. 18000 / 18000 ¥UY

3. Rs. 14000 / 14000 ¥UT

4. Rs. 12500 / 12500 ¥UT

Correct Answer :-

* Rs. 14000/ 14000 ¥UU
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Which of the following is correct when the rational numbers _Tf =_—5 2 Zare arranged in a

6 7 12 * 24
descending order? /

oia ofde w22 2 22 2 3 oA & oaaied gl o FeEafaf@d # § el ar

9 "6 " 12 " 24

ol &
—2 T -5 =11
———=

1 ] 24 (5] 12

-2 [ e
et byt
5 24 6 12

3) If the volume of a cylinder is 5677 cm® and height is 7em, then its radius is A

afe T a6 HT JAaA 567 TETART TuT Fars 7 T R ar sud Gear . B
1. 9cm / 9FHt
2. 3cm/ 344
3. 7cm / 794t
4. 1lem/ 1199

Correct Answer :-

. 9cm/9®rﬁ

4) Simplify: | T B
63 x82x18%
43 3092 122

1. 1672

2. 1944

3.1816

4. 1722

Correct Answer :-

. 1944
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In the given figure, #ZPOR =2x+ 35, £ZROS =x -4 and £Q0S8 = 2x - 1. The measure of the smallest angle is i

e 7 ™7 A, sPOR=2x+5. ZROS=x-4T032£Q0S=2x— 1. §gH BIc HIUT &I AT A

1.58°

2.45°

3.71°

4. 32°

Correct Answer :-

e 32°

6) If a = (-20) + (-20) + (-20) + ..cvvviues 12timesand b =(-3) x(-3) x(-3) ,thena + b = i
Tfg a = (-20) + (-20) + (-20) + weevrrennen 129RTd b= (-3)x(-3)x(-3),dMa+b=___ |
1. 267

2.213

3.-267

4, -213

Correct Answer :-

. 267

7) Simplify: / T BN :
a(a+b)+b(b-a)-(a+3b)-3(a-b)
1.a% + b? - 2ab -2a

2.22+b%+2a

3.a2+b%-2a

4. a2 +b%-4a

Correct Answer :-

e a’+b%-4a

8) Simplify: / A B :

xyz(x2 -x+2)- xy(xzy - 2xy +2y) - xy
1. xyz(x -1)

2. xy(xy - 1)

3. x%y(x - y)

4.x%y(y - 1)
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Correct Answer :-

e xy(xy-1)

9) Solve the equation: /mﬁﬁ:
18(2x -7) -5(3x-6) +12=0

1.14

2.8

3.4

4. 10

Correct Answer :-

10) A cylindrical vessel of diameter 18cm contains water. If iron spherical balls of radius 3cm are immersed in water, then
the number of balls required to raise the level of water by 4cm in the cylinder is: /

159 T 9T TH IATHR U B o 17 81 i 37 Proun areft @R F MareR el wf 5a § garar wrar g, @
YTATPR U A 9d & TR B1 491 96 SR 3811 F AT smawgs Al 3t T=m 2

1. 16
2.9
3.8

4.12

Correct Answer :-

11) What is the probability that a number selected from the numbers 1, 2, 3, , 27 is a multiple of 3? /

T Wil g f afe wwemait 1, 2, 3, ,27 ® | TP AT gl A1, 1 98 3 Pt U g2

O k2

L N
WO | e Lad | =

| o]
-4| th

Correct Answer :-

12) If the interest on Rs. 'y' for 4 years at R% per annum is Rs. 48, then the interest on Rs. '3y’ for one year at R% per
annum is: /
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u%‘y%’WWR% ufaad ot g F 4 9uf & o =T, 48 $UT B AT 3y’ $UAT R RY% Uidad &1 & A b 99 & forg
2N R

1. Rs. 84/ 84 >UQ
2. Rs. 96 /96 20U
3. Rs. 48 /48 20U

4. Rs. 36 /36 %UU

Correct Answer :-

* Rs.36/36%UU0

13) Raju bought a shirt for Rs. 1560 which is inclusive of VAT. If the list price of the shirt is Rs. 1500, then the rate of VAT is
./

ngﬁalssomﬁ@ﬂm%ﬁiﬁ%zqﬁﬁaél gfe HHe F1 G F1Ad 1500 FUC R, T BT R
[

1.5%
2. 6%
3.8%

4. 4%

Correct Answer :-
o 4%

14) The angles of a triangle are in the ratio 7:13:16 The measure of the largest angle is J
TS AP0 & BN BT 3FUTd 7:13:16 &1 I TS BT $ 7Y gl

1.75°

2. 65°

3. 100°

4. 80°

Correct Answer :-
o 80°

15) The area of a square field is 7056 m% A rectangular field whose length is thrice its breadth has its perimeter equal to the
perimeter of the square field. The area (in m2) of the rectangular field is ./

TP TR A T TG 7056 H2 B 1 TP MMAATHR Ao, s darg saa! dters o oiF 1 3, ik 39@1
TRHTY, TR A & URATT & RIS §1 ATAAPR AGH T aakd (12d) 1

1. 5292
2. 6288
3. 6746

4. 5894

Correct Answer :-

e 5292
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16) The area of the largest circle that can be drawn inside a rectangle with sides 4m x 2.8m is: /

47 x 2.8 yoTT3l} aTel U A F WieR Y@ifbd fhT oI YA 9T e 98 g7 BT QTG ©:
1.12.57m?/12.57 H12

2. 24.64 m? / 24.64 T2

3.6.16 m?/ 6.16 U2

4.9.62m?/9.62 Hi2

Correct Answer :-

e 6.16m%/6.16 HIZ

17) The respective ages of A and B are in the ratio 3:4. Three years later their ages will be in the ratio 7:9. The present age of
Bis .

AHMBgﬂmmmaﬂmmz 3:4 81 11 auT LT S 3TY BT SIUTA 7:9 8 ST | B F} THTH 1Y
|

1.28
2.18
3.24

4.20

Correct Answer :-

18) Points (-1, 0) and (2, 2) are the extremities of a diagonal of a parallelogram. If the third vertex is (4, -1), then the
coordinates of the fourth vertex are: /

g (1,00 Td 2, 2) T TR TGS & T fawof & AR &1 afe FRTRR1 (4, -1) B, 79 A R & =i §:
1.(2,1)
2. (-2,-4)
3.(1,-3)

4.(-3,3)

Correct Answer :-

19) A man sold his sewing machine for Rs. 12500 and incurred a loss of 20%. How much did the sewing machine cost him? /
TS i A 3=t TS a=i= &Y 12500 U H J=7 30R IV 20% B 11 g5 | Ryeg w=i= &1 ar1a goa a1 912

1. Rs. 16240 / 16240 34U

2. Rs. 14600 / 14600 ¥YU

3. Rs. 15625 /15625 %4U

4. Rs. 13550/ 13550 ¥UTQ

Correct Answer :-
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e Rs. 15625/15625 %047

20) A man goes 12m due east and then Sm due south. How far is he from the starting point? /

% fad ugd 12 Hiex gd o 3R fhv 5 Hiex gféon 3t 37 o 81 98 wRive fig S fram gz 32
1. 15m/ 1541

2. 13m/ 1341

3. 19m / 199

4, 17m/ 179t

Correct Answer :-
e 13m/ 1390

21) Out of a wire of length 81.6m, if 1.7m long pieces were cut, then how many pieces were obtained? /
81.6 Hiex @4 T® dR 9, Al 1.7 Hiex da1s a1d ghs P oY, dt fhat gwps wred gl

1. 56

2.38

3.42

4.48

Correct Answer :-

o 48

22) Nitu can do a piece of work in 8 days and Ritu can do the same piece of work in 10 days. How many days will they take if
both of them work together? /

Hq e Frd 3t 8 fa & HR Awdl @ U fig St o Y o fo1 § v Tt 31 9 ST 39 Rl 3t U A1y el
&, 0 orf W g ¥ e wwg @

3
5— davs /5~
e ke

nTh

days | 5% G

1 1
3:} days | 3; LG
4;: davs | —1§ G
Correct Answer :-
& days 14 o

23) 4.89 x 10”7 in the usual form is: /

4.89 x 10”7 T IHRI U :
1. 0.00000489

2. 0.000000489
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3. 0.0000489
4. 0.0000000489

Correct Answer :-

» 0.000000489

24) For what value of 'k' the system of equations 3x - ky = 2 and 6x - 2y = 3 is inconsistent? /

k& fore AT & fore, Aeiiemor feT 3x - ky = 2 3R 6x - 2y = 3 SRFTA &2

25) The difference of the areas (cm?) of a circle with circumference 44cm and a square of perimeter 44cm is /

44 A U TS U 9 qUT 44 A URWY 916 U I F fAwal @) AR @1
1.28

2.0

3.24

4.33

Correct Answer :-

Topic:- General Knowledge

1) Which of the following city was the capital of Madhya Pradesh at the time of independence of India? /
YRA B! Ao & T FAufafad & § 19 91 e” 7 U &1 IS 3412

1. Nagpur /-TYR
2. Indore / 35 X
3. Gwalior /TR

4. Jabalpur / SISTYR

Correct Answer :-

» Nagpur /NTYR

2) Which of the following is the oldest University in Madhya Pradesh? /
fFrafafaa 3 @ vovdsr $1 9 WA fayfierag s are?

1. Barkatullah University / SR&d3eas fayfaemeg

2. Dr. Hari Singh Gour University / 31, gRRig 7R fayfaeraa
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3. Jiwaji University / STtaron fayfamad
4. Vikram University / fawy fayfaarea

Correct Answer :-

o Dr. Hari Singh Gour University / 3. E:'ﬁﬁl’s’ R ﬁ%lﬁw

3) Which team did India beat in the finals of Men’s Hockey Asia Cup held in October 2017? /
ISR 2017 H SATAIRTT g8 TSV It URMT $U & BIgAd & URA A 5 0 ot e faar ur
1. Malaysia / TarRmEr

2. South Korea / Gf&[0T IRAT

3. Japan / SITUTH

4. Pakistan / OTf&I

Correct Answer :-

o Malaysia / TRk

4) Which among the following has won the highest number of national awards for the best actress in India? /

UYRA # a9 STeT IR arad Sifim= &1 Iy R Fafafad § & fea shar @2
1. Smitha Patil / T UTfed

2. Kangana Ranaut / 7T 3410

3. Shobhana / RN

4. Shabana Azmi / ST 3T

Correct Answer :-
« Shabana Azmi / TETHT STSTHT

5) Which cricket team has won the Irani Trophy cricket tournament 20187? /

o5 fopdre &0 A adf 2018 H 11t gTwt frdse gitde Sitar
1. Mumbai / §&3
2. Karnataka / e

3. Vidarbha / fagyf

4. Saurashtra / @TIE

Correct Answer :-

« Vidarbha / fagyf

6) Which of the following is the state animal of Madhya Pradesh? /
FrafafEa & A $1F 91 0w wex ST IS Uy 82

1. Barasingha / TRERT

2. Nilgai / e

3. Elephant / gt

https://www.freshersnow.com/previous-year-question-papers/



4. Lion /qR

Correct Answer :-

» Barasingha / TRERIT

7) Which of the following district of Madhya Pradesh is famous for its manganese ore? /

A AR & Fufafad ford § & o1 w1 fren Amie s & o uRis @2
1. Balaghat / dTATUIC

2. Burhanpur / gX8TYR
3. Mandla / HISal

4. Mandsaur / W

Correct Answer :-

» Balaghat / dTCITHTC

8) Which state government has recently raised the retirement age of its government employees from 60 to 62 years? /

BTa 81 ® fory 359 WRPR A WA HHarRal &) Aarfghu 3mg $i 60 V TeTH 62 FR faar g2
1. Goa / 7Tl

2. Jharkhand / IRES

3. Kerala / &

4. Madhya Pradesh / H¥] e

Correct Answer :-
» Madhya Pradesh / & e

9) Chhattisgarh was carved out of Madhya Pradesh in the year__ ./
a9 H A Y A ST X SIS 157 791 747 T
1. 1998

2.2003

3. 2005

4. 2000

Correct Answer :-
e 2000

10) India’s first helicopter-taxi service has been launched in which of the following city? /
Frafafed 2ee § HRa 3 ugdt seieER-CRA Ja1 I& 31 152

1. Delhi / feeeft

2. Kochi / Y=t

3. Bangalore / a7 [V
4. Hyderabad / %3? diq
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Correct Answer :-

» Bangalore / aTITj?

11) Sandhya Agarwal of Madhya Pradesh has captained the Indian team in which of the following sport? /

T UG P HHAT 3Uara A fAufafaa # 4 ford @a # yRdla &9 &1 g feane
1. Hockey / 811

2. Table Tennis / CHA ¢

3. Cricket / fhabe

4. Volleyball / drciiale

Correct Answer :-

« Cricket / fhdbe

12) How many states in India have sea coast? /
YR & fham Il o uvgs ae 82

1.9

2. 11

3.10

4.12

Correct Answer :-

13) Bina Oil Refinery is located in which of the following district of Madhya Pradesh? /
1 d@ R, wer wedwr & o # & fra R & R 82

1. Damoh / GTHIG

2. Sagar / gTR

3. Raisen / Y

4. Rajgarh / XISI'Tg

Correct Answer :-

o Sagar /9 R

14) The Marble Rock is located near in which one of the following cities? /
AT I fFrafafed e # @ fre & u fRua 32

1. Neemuch / 199

2. Orchha / 3{R®T

3. Jabalpur / SI&elY}
4. Pachmarhi / t|?|'J:I_GPI

Correct Answer :-
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« Jabalpur / STFTTYY

15) The birth place of the noted playback singer Lata Mangeshkar in Madhya Pradesh is ./
AU H UG WP TS a1 HIDHT BT oI R :l

1. Indore / sﬁ?

2. Rewa / JfdT

3. Pithampur / 1313["’-I'1:|'EJ,T

4. Chhindwara / fqarer

Correct Answer :-

e Indore/ sﬁ?

16) The Murrum Silli Dam is located in which of the following state? /
o fareeht ates Preaferfer & @ v o F R 22

1. Chhatisgarh / Eﬁﬂﬂ"ﬁ

2. Jharkhand / IRES

3. Madhya Pradesh / H&] e

4. Bihar / TS8R

Correct Answer :-

o Chhatisgarh / @T‘ﬂqﬂ?{

17) Who is the author of ‘Kamayani’, the epic poem in Hindi? /
&S A AeTeTa Hfaar SHTEAr & TWATSR P §2

1. Suryakanth Tripathi ‘Nirala’/ W ECICREREIN

2. Sumitranandan Pant / GRAEA Ud

3. Jaishankar Prasad / SIIR[R UG
4. Mahadevi Verma / U—E?Taﬁﬁ gaf

Correct Answer :-

o Jaishankar Prasad / STORIDR UG

18) Who is the present Chairman of Railway Board? /
Y4 1S & qAH e DI 32

1. AK Mittal / Tob At

2. Arunendra Kumar / 3750I% PHR

3. Pradeep Singh Kharola / e lo} ﬁl’s’ QR

4. Ashwani Lohani / 3{% @gTT

Correct Answer :-

e Ashwani Lohani / S{%T-ﬁ alg g
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19) Who is the present Governor of Madhya Pradesh? /
HYI YR 1/} THA ISUUTE B 82

1. Bhai Mahavir / 41§ AETAR

2. Anandiben Patel / S{T-dleH Ged

3. Rameshwar Thakur / JTHRAX SIPX

4. Ramnaresh Yadav / IR 1G4

Correct Answer :-

« Anandiben Patel / 3T Is ged

20) All shareholders of a company are its i

TS U S AN TRYRS ITF B
1. directors / Fq=I®

2. creditors / AIGR

3. debtors / GIGR

4. owners / HTfcTd

Correct Answer :-

« owners / HIfeId

21) “Tulsi Samman’ of Madhya Pradesh Government is given in which one of the following fields? /
e Y R &1 gt gar Frafafea 3 9 i & & R fear smar @2

1. Social work / THIRIS &1

2. Folk arts /WW

3. Literature / Fl'f%?q
4, Music / G¥IId

Correct Answer :-
« Folk arts / A1 EqY

22) National Science Day is celebrated in India on of every year. /
TS T Y HRA ¥ P fagr faawr wman sman 3

1. 31 March / 31 HId

2. 31 January / 31 SR

3. 28 February / 28 TRa<!

4.30 April / 30 310

Correct Answer :-

« 28 February / 28 TaR]

23) Chanda Kochhar, who was in the news recently, is the Managing Director and Chief Executive Officer of which Bank? /
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el PR, St 7T &1 § GrAal & &, e @ 91 yay e ofk g1 s sifterRt 82
1. Axis Bank / UfRr §&

2. State Bank of India / YRdTd }C S

3. HDFC Bank / TISIUHH! 86

4. ICICI Bank / 3TS T3S HISNE S

Correct Answer :-

« ICICI Bank / 3 Et3gHtaE 85

24) Kedar Nath Singh, the Jnanpith Award winner who passed away recently, was associated with which of the following
language? /

TGS SarS fasiar der-Y Rig, et gra § ¥ 9 58, fFa v 3 98 &2
1. Bengali / STTTeR

2. Marathi / RT3}

3. Hindi / f&}t

4. Punjabi / USTTalT

Correct Answer :-

« Hindi/f&a}

25) Tipu Sultan was the ruler of which of the following territory? /

Ty g FFafafea o 3 5w &= &1 3mae ane
1. Travancore / ATAUIGIR

2. Vijayanagar / SRR

3. Hyderabad / RERE]

4. Mysore / fRR

Correct Answer :-

» Mysore / ﬁ&?

Topic:- General Computer

1) Aformulalike “=SUM{A5:B5:C5:05:E5)" to the below MS-Excel sheet would give the following result: /

ARy &1 915 TATH-UEHS e #, U TA “=SUM(A5:B5:C5:D5:E5)" o= TROT#H &a:
A | B | ¢ | Do | E F

| = () (b | —

25 25 25 25 2] 1

1. 125
2.25
3. 100

4. 50
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Correct Answer :-

e 125

2) Which of the following is a correct format of Email address? /
fFrafafa ¥ @ $19 a1 S99 U39 &1 9 wide 8?2

1. www.enggofdesign.com
2. engg@design@info
3. engg@design.com

4. engg.design.com

Correct Answer :-

» engg@design.com

3) Which icon to be used to undo? /

g F R B | P BT YA HAT A1fRT?

®
K7

4.

Correct Answer :-

4) CANCELLED

Which of the following are not MS PowerPoint views? /
frafafad § @ 919 91 tiew tfavErEe o T8 82
1. Normal view / Wa{[\

2. Page view / CK| 28

3. Print view / flie g

4. Outline view / A3 Y

Correct Answer :-

» Page view / L] g

5) LCD, Scanner, Printer are devices. /

TadiEl, R udfiier  feaadl
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1. Software / JIFCATR
2. Humanware / qu:fam
3. Firmware / TPHATR
4. Hardware / 31@,%11?

Correct Answer :-

o Hardware / BT&%’CR

6) Which file format can be added to a PowerPoint show? /
e wIga wiie % T UTeR wWige 3N A ST 91 AT 2
1. .mp3 only / Had .mp3

2. .wav only / Fad .wav

3. .jpg only/aﬁﬁ Jjpg

4. all of the above /G'q?iaﬁ gt

Correct Answer :-

o all of the above / G'qéﬁ gt

7) Which of the following is the latest version of MS-Excel? /
Frafafaa & @ $19 91 ey TR T AdTaH TH01 72
1. Excel 2007 / T&d 2007

2. Excel 2010 / T&RId 2010

3. Excel 2016 / TaRId 2016

4. Excel 2013 / TdAd 2013

Correct Answer :-
« Excel 2016 / T 2016

8) Which of the following has the highest storage? /
Frafafea & & frad ved warer i giar a2
1. Kilobyte /ﬁﬁ‘ﬁaﬁf

2. Megabyte / TETRe

3. Terabyte / CXISTSC

4. Gigabyte / TTETge

Correct Answer :-

e Terabyte / R gC

9) Which of the following short cut key is used to print a file? /
TH W15 F fiiec T & g fe Aidwe 3t gt &:

1. Cul+V
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2. Ctrl +A
3.Ctrl +P

4, Ctrl + X

Correct Answer :-
o Ctrl+P

10) In windows 7, the folder where the documents, pictures, music and videos are stored is called the ./

fisie 7 %, 95 witsx Rrad stagied, e, "o ok difda wR ga &, 39 FHET AR
1. Documents / SIFTHCH

2. My Documents / AT SlagHcH

3. Library / ATSsRY

4. Desktop / S¥helg

Correct Answer :-

e Library/ E‘Iﬁaﬂ

11) The basic input/output instructions are stored in .
P 3AYe/3ANITYe ST HERFATI

1. RAM /™

2. ROM /|

3. CPU / HUIg,
4. Hard Drive / §1S glkd

Correct Answer :-
« ROM/IH

12) The process of banking transaction through internet is called ./

gavAe & w9 S e & ufpan PHgandt gl
1. e-finance / S-TTSAY

2. e-salesmanship / é-@?\qﬁ?&ﬂ

3. e-selling / s‘-@ﬁfm

4. e-banking / 3-sifTT

Correct Answer :-

e e-banking / é'-%%n

13) In MS Excel, the intersection of a row and a column is called a ./

THUH TR |, TP 3 3R T Biad P Ufasdgd (S<aas) BI CaRSIGIN
1. Cell / I

2. Square / it
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3. Row /3

4. Column / BIAH

Correct Answer :-

. Cell/ T

14) _ Kkeystroke is used to go to the end of the document. /
PRI, STAghc & AFEd & 1 F e swara frarsrar g |
1. Ctrl + End
2. Ctrl + Home
3. Top

4. Escape

Correct Answer :-
e Ctrl +End

15) A document can be created using v

TS SiagHc, P FTAATA DA §U AT ST Jhel 2
1. MS PowerPoint / THIY UTaR WS

2. MS Word / THUY T8

3. MS Excel / THTYH TR

4. MS Access /wm

Correct Answer :-

« MS Word / THTH I8

16) Which of the following is NOT an external memory? /

frffEa § @ o1 3 ue Toe-a ARt g 82
1. Pendrive / 0T S13d

2. Hard Disk / BTS &%

3. Scanner / TR

4.DVD/ StdiSt

Correct Answer :-

e Scanner/ @TT‘R

17) Animage file would have the following extension: /
TP SHY BIsd & e ¥ fAmfafad ghm:
1..img

2. .exe

3. .cls
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4. .bmp

Correct Answer :-
e .bmp

18) You email to Anand, but then receive an error message of undelivered mail. What is the most likely cause of the problem? /

3TY AT B §-Ad B 8, AP 3MUH! TP 3 AW T g & fob syt §ha faehtar 181 83 3 1 s qu=an 1
T HHIfId RO FT 82

1. Anand’s computer is not turned on. / a{mmmmﬁ%l
2. Anand’s mailbox s full. / 3{Tc BT AdaTaT 4R g3 &

3. Anand has not opened his email. / 3'|'|7-|_C{af &wéﬁﬂqﬁ@w%l
4. Anand is not at home. / 3 TR TR -Tg1 3|

Correct Answer :-
« Anand’s mailbox is full. / 3T HT AASIRT HRT gall |

19) In MS Word 2007, which of the following is not the Section Break Option? /
THTH TS 2007 B, FrAfifad & & 919 91 9R—E 9% e 78 82

1. Even Page /gé?ﬁ\—rr

2. Next Page / AR U

3. Odd Page / 3fs U

4. Previous Page / oo o

Correct Answer :-

» Previous Page / e ot

20) In MS Word 2007, If you press Ctrl + F from the keyboard. It will ./ THUH IS 2007 ﬁ, Tlﬁ MU FIEE A Ctrl + F

A, @A |
1. Open Page Setup Dialog box with activating Layout Tab. /
W3HT3T ¢d B! Ufdede HRd gU Ul Ve 3y SN Sfay U Fal g |
2. Open Find and Replace Dialog box with activating Find Tab. /
BIES &8 B Ufdede A §U BTES U8 Rwrd S e 31U el 8|
3. Open File Save as Dialog box. /
ST sl & FU H tIgd 99 309 PR 5 |

4. Open Font Dialog Box with activating Font tab. /

iue 39 B! Ufdede HRd §U thive SANT ST 31U- HRaT g

Correct Answer :-

* Open Find and Replace Dialog box with activating Find Tab. /
HIES ¢F &I Ufdede ad U WIss U R SraT §iay iy T 3|

21) PowerPoint presentation is a collection of ./
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IR @Wige YoiexH BT TP PAIRH ¢

1. Outlines only /W 33y

2. Slides and Handouts only /mm GﬁT%@,’m
3. Speaker’s notes only /mwm

4. All of the above/@éﬂﬂqﬂ-ﬁ

Correct Answer :-

o All of the above/mﬂﬂ-ﬁ

22) Which of the following icons stands for Firefox? /

frafefad & Q $19 91 3ge PrRwIe & fA3fud #earg?

©

4.

Correct Answer :-

23) Which one of the following is an example of “Title Case”? /
fPrafafEd 3 9 919 91 TP 5 $9” BT IV 82

1. good evening

2. good Evening

3. Good Evening

4. Good evening

Correct Answer :-

e Good Evening

24) |dentify the correct equation with respect to memory storage. /
AR WS & JaY # g1 GHIH01 1 ugar=g|
1. KB>MB > GB

2. MB < KB < GB
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3. MB > KB > GB
4, KB<MB <GB

Correct Answer :-

« KB<MB<GB

25) The following font style has been applied to this text — “ Raghu is my best friend":/
fFrafafaa dfes & § 19 I wic Aol ST s3A9Td 541 T § - “Raghu is my best friend’:
1. Underline only / Rk GRS

2. Bold / TS

3. Italic only /Wm
4. Both Italic and underline/%ﬁg 3iedreH 3 =t

Correct Answer :-

« Both Italic and underline/%@g KRGS K|

Topic:- Logical Reasoning

1) 400 gm of sugar solution has 40% sugar in it. How much sugar should be added to make it 50% in the solution? /
400 ITH D1 F faeraa A 40% T 21 39 faTaT o1 50% 9% F39 & forw sifafvea fea D= e =nfee?

1. 40 gm /40 UTH

2.50 gm /50 UH

3. 80 gm /80 UH

4. 60 gm /60 UTH

Correct Answer :-

» 80 gm/80UMH

2) Find 4; % of Rs. 1600. /
1600 TUT F 4= % AT HY

1. Rs. 72 /72 T

2. Rs. 82 /82 30T

3. Rs. 92 /92 ¥0T

4. Rs. 62/ 62U

Correct Answer :-

e Rs.72/72%UQ

3) If X: 21:: 5:3, then find the value of X. /
e X:21::5:3, 99 X T HHE {1d I
1.35

2.25
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3.30

4. 40

Correct Answer :-
o 35

4) If 39% of persons like papaya whereas 96% of persons like banana, then what can be said about the least
percentage of persons who like both papaya and banana? /

Tfe 39% & udtar usg HRd &, Safr 96% NI HaAT UHE Hd 7, 99 gAa¥ fhan ufazra @t & IR A a1 o Jobar
2 5 aY adfiar o e ST URiE FRa 22

1. 50%
2.35%
3. 45%

4. 40%

Correct Answer :-
e 35%

5) Rekha gets 93 marks in her exams. This number is 50% of the total marks. What are the maximum marks? /
G A Tdtem & 93 3 U fHA | A 3, T 3BT BT 50 % & 1 T F Siftrpan 3iw fFa &2

1. 186

2. 182

3. 184

4. 180

Correct Answer :-
« 186

6) If the first and the third digits in each number are interchanged, then which number will be the second lowest? / ‘Tfa

T T H U5 IR AR 31 1 10w & Tt T Sl & A I A1 o Gt Ry ghe
129, 642,921, 476, 308

1. 308

2. 921

3. 129

4. 642

Correct Answer :-

. 642

7) If X exceeds Y by 40% and Y is less than Z by 20%, then find X : Z. /
Tl X, Y H 40% TGI8 3R Y, Z H 20% FHE, T9 X : Z JTd PIoQ|
1. 26:23

2.19:17
https://www.freshersnow.com/previous-year-question-papers/



3.28:25

4, 21:17

Correct Answer :-
o 28:25

8) In what ratio must a grocer mix two varieties of pulses costing Rs. 14 and Rs. 18 per kg, respectively, so as to get a
mixture worth Rs. 16.50 per kg? /

TS TR, 3 e 1 arel; et gea R 14 3UT Ui it 3 18 $UT ufd fra 8, %) {59 argura & ffda &
1P 16.50 Uil fpedt Yea 1w fAyor yra g2

1.2:5
2.5:2
3.3:5

4.53

Correct Answer :-

9) A book was sold for Rs. 55 with a profit of 10%. If it were sold for Rs. 53, then what would have been the percentage of
profit or loss? /

TP fFara 55 T | 10% & a1 R 961 T | afe 98 53 g & 9= Tt g, o) @y an g1 &1 ufa=ra «n g
1. 6% Profit / 6% TTH
2. 4% Loss/4%€'|ﬁ
3.2% Loss / 2% BT

4. 3% Profit / 3% ¢TH

Correct Answer :-
e 6% Profit / 6% <Y

10) The average score of a cricketer in two matches is 30 and that in three other matches is 15. Find his average score in all
the five matches. /

3 Bl ¥ U fohdber &1 3Nd WHIR 30 B MR 3= i A=t & 15 31 el 5 A< &1 SN SrguTa 1 B |
1.20
2.19
3.22

4. 21

Correct Answer :-

« 21

11) In a group of 80 people, 32 persons like rice, 57 persons like roti and each person likes at least one of the two foods. How
many like both rice and roti? /

80 SfeRTal & T JYE H, 32 AR I19d UG B 80, 57 AR AT THS B & 3N UD ek B HH & HH G
W ® | Te yHe 8| fpan aafd araa iR A 1 wRig HRad 802
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1.7

2.9

4.13

Correct Answer :-

12) A super-fast train runs at the rate of 54 km an hour. What is its speed in meter/sec? /
TS YIRWIE ¢ 54 . i ve1 31 o3 & 90 61 31 39! a9, fA d | g2

1. 12 m/sec/ 12 HIA

2. 13 m/sec/ 13 HiA

3. 15 m/sec/ 15 HIA

4. 10 m/sec/ 10 Hia

Correct Answer :-
« 15 m/sec/ 15 WA

13) Subodh bought a cycle for Rs.770. For how much shall he sell it so as to incur a loss of 10%? /
gAY = 770 $UC H U Asfea @ 98 Agfea foraq & o1 76 39 10% ufo=ma 1f4 ot ug?
1. Rs. 663 / 663 2UQ

2. Rs. 693 /693 2UU

3. Rs. 683 /683 34U

4. Rs. 673 /673 %4U

Correct Answer :-
» Rs. 693/693%UU
14) If Rajpal purchases a pen for Rs.55.25 and he wants to gain 20% on purchase price, then find his selling price. /

g ITTUTA 55.25 $UY H TP HeH WIGAT ¢ 3R T8 WG T W 20 % ATH HHHT I18d1 8, a9 36 HoH B [as6g
T J1d Do |

1. Rs. 65.30/ 65.30 ¥UUQ
2. Rs. 66.30 / 66.30 ¥UU
3. Rs. 64.30/ 64.30 YU

4. Rs. 67.30/67.30 34U

Correct Answer :-

» Rs. 66.30/66.30 20U

15) A man has 80 pens. He sells some of these at a profit of 12% and the rest at 8% loss. On the whole, he gets a profit of
11%. How many pens were sold at 12% profit?/

TS JATGH & U1 80 $H & | STUH A $ B 98 12% F ATH R TTHT B 8% Pt g1 W 3a1 71 o e a8
11% BT ATH YT BTl 81 12% TTH TR 3 T Fawl o) wem 1 A2
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1.76
2.73
3.75

4.74

Correct Answer :-
e 76

16) Find the average of first 50 natural numbers? /
WU 50 UTHfad AT BT I 1 B2
1.26.5

2.225

3.245

4.255

Correct Answer :-

e 255

17) If A and B are two sets such that n(A) = 18, n(B) = 37 and n(AUB) = 39, then find n(ANB). /
Tfg A 3T B 3 =TT T § 7 n(A) =18, n(B) = 37 3R n(AUB) = 39, A9 n(ANB) T B |

1. 14

2. 16

3.18

4. 15

Correct Answer :-

18) The average mark of a student in four subjects is 70. If the student obtained 75 marks in the sth subject, then the new
average is: /

R v ¥ T BT T 3T 3 70 1 Af BT 59 A & 75 3 W ST 8, I ST AT A B
1.70
2.72
3.71

4. 69

Correct Answer :-

e 71

19) The average age of a grandfather and his grandson is 33 years. The ratio of their ages is 10:1 respectively. What is the
grandson’s age? /

TS gIeT 3R 3P Ui B 3N Mg 33 99 g1 IAD| 3T BT AJUTd HHR: 10:1 31 U P ST AT R?
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1. 6years/6a'5f
2. 4years/4?ﬁf
3.24 years/24a'5f

4. 40 years / 40 g

Correct Answer :-

e 6years/6 ¥

20) The difference between 70% of a number and 51% of the same number is 323. What is 62% of that number? /
TP BT F 70 % 3N I BT & 51% b S DT 30 323 1 IH BT BT 62% fpam 82

1. 1159

2. 1037

3. 1178

4. 1054

Correct Answer :-

« 1054

21) The present ages of Gopal and Abhinav are in the ratio of 5:6 respectively. Seven years hence, this ratio will become 6:7
respectively. What is Gopal’s present age in years? /

TuTer 3R S Y adHI 3MTg BT SIIUTd HURT: 5:6 8| Td TY 1, STD! 3TY BT AJUTd HHT: 6:7 81 SN | T
Pt g 3y auf # fra- g2

1.35
2.49
3.42

4. 32

Correct Answer :-

22) Mohan crosses a 900 meter long street in 5 minutes. What is his speed in km per hour? /
Hig 900 HieX deft TP B1 5 e § UR FXar1 31 ST a1t fobenetex ufer de1d «r 32
1. 10.8 knv/hr / 10.8 fbHit/eer

2. 8.4 km/hr / 8.4 fHi/eier

3. 8 km/hr / 8 fbHi/eer

4. 10 km/hr / 10 fbHi/eer

Correct Answer :-

« 10.8 km/hr / 10.8 foHI/ger

23) What number has to be added to each term of 3:5 to make the ratio 5:6? /
3:5 B 5:6 B FJUTd | AH F A 39 UQAS U A I Wt T=m WS wmg?
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1.7
2.6
3.8

4.5

Correct Answer :-

24) The ratio of the mother’s age to her daughter’s age is 4:3 respectively. The product of their ages is 768. The ratio of their
ages after 4 years will be: /

wﬁaﬁgmaﬂﬁg—aﬁﬁmﬁmmz 4:3 3| ST 3T BT UK 768 8 | 4 AT TG ITHT 3T PT
S REIGH :

1.5:2
2.11:7
3.13:9

4. 9:7

Correct Answer :-

25) A truck covers a distance of 2856 km in 42 hours. What is the speed of the truck? /
TP T 42 °e A 2856 [l ) gl 97 Fa1 8| T Y A F B2

1. 73 km/hr / 73 fopHit/eicT

2. 75 knvhr / 75 T di/der

3. 68 km/hr / 68 fodil/gieT

4. 62 km/hr / 62 fopHI/deT

Correct Answer :-

« 68 km/hr / 68 fpH/EeT

Topic:- General Management

1) Socio-cultural environment constitutes the firms’ ./
HHTRTS-qiepiae ardravor, BH BT TS BT el

1. all of the above / Iudad Tft

2. micro environment / H\&ﬂqﬂﬁw

3. macro environment / QB?[UTIT'CITUT

4. internal environment / 3de Tafaror

Correct Answer :-

« macro environment / QEF[UH]FHTUT
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A business entity created by two or more firms coming together, characterized by shared ownership, risk, returns, and
governance is called ./

TSI W1, ST, R 3R Ima & gR1 ifirafae, S a1 ) & 3ifire wHT gRT TP ATY T ATITRS SHTS BT
frrator Ppgara gl

1. Take over / PTAHR FHTAT (é$ thﬁ)
2. Acquisition / SITEUT ( UfebTorar)

3. Merger / faaa ('FI\_SYT)

4. Joint venture / g IH (SATSC doR)

Correct Answer :-

« Joint venture / §gaI ITH (SARE dTR)

3) Which of the following is characterized by a narrow span of management and a higher number of hierarchical levels? /
ffafed & 9 o1, yaus ot G@if s@fy 3R WU Wkl $1 3o S gR1 aftfd (sfrafém) far smar g2

1. Tall structure / E'VI?TW

2. Line authority / €llg YT

3. Staff authority / W YR

4. Flat structure / HeIC RCER

Correct Answer :-

« Tall structure / CIcl ICFR

4) Which of the following word is used for defining the organization’s reason for existence? /

fFrafifEa § & 19 91 38, We & HRKIT & SR B gRHIYT B3 & g sedama fvan sirar g2
1. Mission / fHRM

2. Goal / &

3. Vision / G f®

4. Objective / IET

Correct Answer :-

« Mission / =M

5) According to the process of an organization change, the three stages in the process are unfreezing, learning, and .

wwmv%jﬁﬂﬁm%w,wmﬁ?ﬂﬁwﬁuwm(mﬁﬁﬁm,@ﬂwmﬁﬁn, MR
[

1. formalization / 3NUITR 1hI0T (ﬁmﬁ
2. refreezing / EFI%EIT‘T (ﬁﬁ?ﬁ‘lﬂ)

3. restructuring / Q:TWT (ﬂE\TﬁﬁTD

4. relearning / EFIT@TI'F[ (ﬁ?fﬁﬂ’l)

Correct Answer :-

. refreezing/?ﬁ%‘l:l:ﬂ TBTSHT)
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6) According to Herzberg’s two-factor theory, the presence of which factors in work environment don’t lead to increased
motivation, but their absence leads to increased dissatisfaction? /

oI & Gl-PRS RIGid b IR, T4 Tafavor # H9 A RS UR0N F! 781 981d &, AP 399! squiufa I
AT 9 SATaT 82

1. Dissatisfiers / [STfeTmRE
2. Motivators / 3RS (Ihﬁafﬁ)
3. Satisfiers / SfeTHIH

4. Hygiene factors / Id=5dl ®RD (8 SOl a’ﬁﬁﬁ)

Correct Answer :-

« Hygiene factors / W&l HRD (FTS0N m

7) Funds that are readily available for disbursement are known as: /
Hfaror & g ST @ SUAsY S P §H YHR T 16T 3:

1. Reserves / g ( ﬂGlst)

2. Receivables / UT TTRT (Rfﬁéa?m

3. Inventory / aﬁ-ﬁ?ﬁ (gﬁej)
4. Cash / ddq (%Q'D

Correct Answer :-

« Cash /& ()

8) Tangible goods that survive multiple uses and are used for longer durations are known as: /

T [T oY fAfi=T Suai a 9ad Yed € 3R Y &ra a g uTd w8, f s €
1. Non-durable goods / Seqonal 71

2. Services /QTJIT\.Q’

3. Durable goods / CH1S A1

4. Fast moving consumer goods / TPTRC 11%"[ G‘b\ﬂ;lj-li RIS

Correct Answer :-
o Durable goods / CHTS, AT

9) Goods that satisfy the wants of the consumer indirectly by producing goods for direct consumption are known as: /

%mrvr,G?%w&rwmﬁnﬂ?ﬁmmmmmwm&wﬁwﬁwaﬁw&ﬁaﬁmm%ﬁﬁm%wﬁ'
CIEESIGES

1. Indirect goods / STUIE& HIA
2. Producers’ goods / ST HI
3. Direct goods / Y& HICT

4. Consumer goods / JUHTERIT AT

Correct Answer :-

o Producers’ goods / 3dIa HIT
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10) Collaboration, avoidance, accommodation, competition, etc, are types of which of the following in an organizational
management? /

HgaT, URER, Smard, ufaeayf senfe, v Wrearers yaud ® Frfafed # § 99 S ueR 32
1. Strategic decision making / orfifaes fAofas W SO ﬁﬁﬂ'l)
2. Conflict management / foRremyTg ude (Eb_'Wﬁaf ﬁ%l\_rlflf)

3. Motivation / URUIT (Fea=)
4, Learning / Sy (?’I'ﬁ"T)

Correct Answer :-

« Conflict management / [ERERGRECHE (Eb_'tﬁﬁaf fﬁ\_ﬂﬁ?)

11) In the BCG Matrix, the portfolio of products is divided in the four categories based on market share and .

dRifioh Afeew ¥, Iarel & TIdwiferl Hf Ardhe AR SR F 3MMYR W IR AR & fawrfora farar war g1

1. market structure / TSR TG (HThC TFR)

2. market price / ISR P (W PIES))
3. market growth rate / dTSIR q@ 23 (HT%_C' my i_cr)

4. market value / dTSIR Hed (Iﬂ% 3?3)

Correct Answer :-

o market growth rate / dISIR q@ @ (ﬂﬁ?_c' ’/ﬁ?—ﬁ?)

12) Dividing a market based on the age, gender, income, or religion is known as: /

3y, i, omar ar o & SMYR W TP IR &t fyufora = & FUH JHT ST 8
1. Psychographic segmentation / nﬁqw faurstieur

2. Geographic segmentation / Urmfere fauTshiezor

3. Demographic segmentation / SAEIRAD I fauTSiiahRor

4. Behavioral segmentation / Wﬂﬂﬁ fqHTSTte T

Correct Answer :-

» Demographic segmentation / SHiRAS T faHTSiidRor

13) Dividing the customers in the market based on their personality traits, lifestyle, or values is known as: /

3 fdRicd AU, S Aelt a1 Yedl &b ATYR W TOR F UTgeh o1 faUTe A1 weardar 8:

1. Psychographic segmentation / ﬁq%w faure=
2. Geographic segmentation / Urnferes fauTe
3. Demographic segmentation / SR fausH

4. Behavioral segmentation / ®JdgIR ICHISE]

Correct Answer :-

o Psychographic segmentation / mﬁqﬁrw IERISE]
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The continuing commitment of a business to behave ethically and contribute to economic development while improving the
quality of life of the stakeholders such as employees, customers, and public is known as: /

HHATRGY, ATED! 3N ST 9 fFAURD & Sia B Yorawr # JYR $d §¢, e e & ahgrq 31 ok Afew
U Y FaER T ¥ RIT T Iaum i PR ufasa e sead 2

1. Corporate social responsibility / it amfore et (WVW qrerd ﬁ@ﬁﬁﬁﬁﬁ)
2. Corporate governance / PIRE Taq

3. Goodwill building / g ST (Tsfad fafegm)

4. Compliance / 3{TUTeT

Correct Answer :-

» Corporate social responsibility / it amTfore Rt (@RURT AIed f'\’@ﬁﬁﬁl—cﬁ)

15) The total common shareholders’ equity reported on the balance sheet is called .
YT 2 R R &Y 75 Fa Aen PRYRS! P 3fdd B FETATAT 2|
1. Book value / WTdT Jed (§% )

2. Par value / THHE (UR I)

3. Retained earnings / yTid waTs (Rews G'Iﬁ:‘ﬂ)
4. Treasury stock/ﬁTlﬂT?ﬁ:fE}I?(aGli i)

Correct Answer :-

« Book value / QT 4 (& I)

16) The ratio that focuses on the relationship of monetary current assets to current liabilities is called .

98 U, St Mifge adar ol & adare Saarsl & ary Say W HfZaglare,  wgardarel
1. Return on investment / Fa% TR ket

2. Acid test ratio / IRI-FfRor 3ruTd (WIS X WM

3. Debt equity ratio / U 3T SUTd (S Sfdel IR

4. Current ratio / IIHI SIUTd (F2e MM

Correct Answer :-

« Acid test ratio / FTRG-FHRUT 3FUTd (TRTS T RN

17) The basic difference between services and goods is that unlike goods, services are .

Jarsit 3R 91 (59 & diw gfardl iR us ¢ % wra & faudia, Jane H
1. separable/mm@m

2. intangible / 3 (ZERTEA)
3. non-perishable / SfadrRIg (:ﬁ:f-m

4. homogenous / qoIdg (6; ol 1)

Correct Answer :-

« intangible / W@ﬁaﬂ)
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18) The bill that the customer never pay to the organization is commonly termed as: /

3 Y@, et Ya ares st e Y 98 Hrar, JmHd: e w0 3 9F 9 g
1. Sunk cost / FHI AT (ﬂ?ﬁm

2. Deferred sale / 3TRURTG fon! (ﬁ':'qv_ff@ﬁ)

3. Revenue / XTSI¥d m

4. Bad debt / 3RNE BT (I8 S&)

Correct Answer :-

« Bad debt / 3N HBU (98 I&)

19) The degree to which decision making is concentrated to a single point in the organization is called .
T® e H, 98 & o fofas (ffter afd) ot v fog 9o Sf<a frarsman 2, A gl
1. Bureaucracy / :ﬁmﬁﬁ

2. Centralization / &IRUT

3. Formalization / 3T e 10T

4. Decentralization / fddbaie0T

Correct Answer :-

o Centralization / WUT

20) The accounts maintained for the various items on the balance sheet are known as: /

399 e R fAfis #ef & fore srafRy« fd e @rdl (@) ) 59 79 & ST ST @:
1. Reserve accounts / 3Rf&rd fAfer aram (ﬁTrla: I CArCTR:)
2. Permanent accounts / TJIT4T T@T (QTleTef?f m

3. Temporary accounts / STt TrRat @mﬁ 3BT
4. Cash accounts / T4 TdT (%7_52'[ B3 H)

Correct Answer :-

« Permanent accounts / TITIT CraT (CRTlTef?.' 3fDhIICH)

21) The process of employees’ performance measurement and rewarding them accordingly is called .

FHARY & Ye=IF 1 70 SR TEIAR 3= REPd S 31 ufehan Hgardl |
1. Employee engagement / Wmmﬁ gﬁ\_l‘lﬁ?)

2. Performance appraisal / ST HAihA (QTCF\I% \}FaTFIT“I)
3. Induction / URUT (SSH)

4. Training and development / URreror 3R faebr (a FTe %aﬁuﬂa

Correct Answer :-

« Performance appraisal / FsITG H™ihd Wm &raﬁﬂ)

22) are items of cost that vary in total amount directly and proportionately with volume. /
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, US| 1 98 ATTd @ W U1 & 1Y ATuTiae 3R Udel &9 Q $of iR § = gt 81
1. Sunk costs / ™ @A (& BIe)
2. Volume costs / HTHT AT (A1eqH HIC)
3. Fixed costs / Fd arTd ((heRe ®ixe)
4. Variable costs / GRAGRITT ANTT (QRTS HIe)

Correct Answer :-

« Variable costs / URIITRIS ANTd (aﬁ'QW W)

23) A market structure wherein a commodity is supplied to the entire market by a single firm only is known as: /
TS IR TRAT Forad U 8 wH gR1 IR 99Tk 8 U avg 3t 3myfed &1 wireht ], =1 =0 & 9141 Simen 8:

1. Perfect competition / ﬂqﬁuﬁvﬂﬁm (CR‘W ﬁmﬂ'&’lﬂ)

2. Monopoly / THIABR (Ih:th?ﬂ')

3. Monopolistic / Qﬁﬁl@—r\ﬁ (Ih:ﬁ'm

4. Oligopoly / SAMIPR (m

Correct Answer :-

« Monopoly / THTRIGR (HIHTe)

24) An organization wide effort to ensure quality in every activity of the company through continuous improvement is
known as: /

fROR YUR & a1y U Ft 7R nfafafy & qoramr gfia w3 F e ve dre &1 sy e s g:
1. Six sigma / T R

2. Quality circle / OTAIT Al

3. Quality control / T[OTde fAATT

4. Total quality management / HQUT T[UTde Yae

Correct Answer :-

« Total quality management / Wf BIUCSICERE]

25) Training methods like apprenticeship, understudy, etc, which allow the employees to learn while working, but may also
disrupt the workplace are commonly known as: /

Rrefar (e fRm), R (sses)) 3fe Ft ulkigmr faftmt, it wdwial ot o wva g des o1 saer
ot ¥ g wrdwi@ 3t oft aifta wR wwdl 8, amae: Pgardl gl

1. Informal training / SR TfRreor (E:I'q?\liﬁ?f aﬁTD
2. Off-the-job training / 3T-G-SNd-¢ (1T

3. On-the-job training / 3fd T gfreror (G'ﬁ,q-a-ﬁh-aﬁ"'f)
4. Simulation training / 3JHRUT UTRI&0T (Rygei= ¢

Correct Answer :-

+ On-the-job training / 3{d BT TfRreror (HUW-E-G'VW-E =)
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